Chapter 5 Problems

Use the following information to answer the next three questions.

Harcourt Marketing (HM) has the capacity to produce 10,000 fax machines per year.   HM currently produces and sells 7,000 units per year.  The fax machines normally sell for $100 each.  Modem Products has offered to buy 2,000 fax machines from HM for $60 each.  Unit-level costs associated with manufacturing the fax machines are $15 each for direct labor and $40 each for direct materials.  Product-level and facility-sustaining costs are $50,000 and $65,000, respectively.  

1.
How much would profit increase (decrease) if HM accepted this special order?

a.
$10,000


Revenue
2000 * $60 =
$120,000
b.
$112,000


Unit-level
2000 * $15 = 
(   30,000)
c.
($10,000)


Unit-level
2000 * $40 = 
(   80,000)
d.
($112,000)






$   10,000


2.
Should HM accept the special offer?

a.
yes
b.
no

c.
maybe
d.
no, because GAAP requires all costs to be included in the product

3.
GOGO Golf carts currently produces its own electric engines.  Electco has offered to sell the electric engines to GOGO at a price of $300 each.


Current production information follows:


Unit-level material


$        75

Unit-level labor



$      100

Unit-level overhead


$         25


Batch-level set-up cost


$110,000


Product-level supervisory salaries

$  80,000


Facility-level costs


$100,000

GOGO is currently producing 2,000 engines a year.  If GOGO purchases the engines, they will be able to lease part of the factory space for $18,000 per year.  What will happen to net income if GOGO decides to purchase the engines?







To make the engines:
a.
Net income will increase $8,000.

Unit-Level$200 * 2000
$400,000
b.
Net income will decrease $8,000.


Batch-Level

  110,000
c.
Net income will increase $10,000.

Product-Level

    80,000
d.
Net income will decrease $10,000.

Lost Revenue

    18,000







Total Cost

$608,000

To buy the engines:

$300 * 2,000 = $600,000

$608,000 - $600,000 = $8,000
4.
A condensed income statement for Tramco follows:  (amounts are shown in thousands)

	Products 
	F
	G
	H
	Total

	Sales (total)
	$200,000
	$180,000
	$320,000
	$700,000

	Unit-level Variable Cost (total)
	 (120,000)
	 (160,000)
	 (200,000)
	  (480,000)

	Contribution Margin
	   80,000
	  20,000
	 120,000
	  220,000

	Facility-Level Fixed Cost
	   (25,000) 
	  (30,000)
	   (40,000)
	    (95,000)

	Income (Loss)
	$ 55,000
	$(10,000)
	$ 80,000
	 $125,000

	


Tramco’s management is considering whether to discontinue manufacturing product G at the beginning of the next year.  Doing so will have no effect on total fixed costs, and no effect on the sales or variable costs of  products F and H.  The change in income that would result from discontinuing product G is

a.
$10,000 increase

b.
$10,000 decrease

c.
$20,000 decrease

d.
$30,000 increase

5.
Jason Company is considering replacing equipment which originally cost $600,000.  New equipment costs $500,000 and the old equipment can be sold for $400,000.  What is the sunk cost in this situation?

a.
$600,000

b.
$200,000

c.
$400,000

d.
$500,000

6.
Tom's Toolery is operating at 80% of its productive capacity.  It is currently purchasing for $20 each a part used in its manufacturing operation.  Tom's estimates it could make the part internally for a total cost of $24 per unit, consisting of $18 of unit-level production costs and $6 of facility-level costs that are currently attributed to other products.  Tom’s usually purchases 50,000 units of the part each year.  These units could be manufactured using Tom’s excess capacity.  What is the differential increase or decrease in cost derived from making the part rather than purchasing it?

a.
$100,000 cost decrease

Make = $18 / unit
b.
$100,000 cost increase

Buy =    $20 / unit
c.
$200,000 cost increase


$  2 / unit * 50,000 = $100,000
d.
$1,000,000 cost increase

